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10 SAIAHIEAZ2 2,280 2,280 0
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< I=dl > 0
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Ol2tdiDIBtRA S22l 41,000 20,000 21,000
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o TAZHR FA 7,000 * 7H » 122 5,978
02 =234l 860 860 0
< BE2SHHMA > 0
o ZHIEMHIA 018Z 30,000 » 123 360
o T A= 3l 250,000 * 23| 500
202 O4dl 4,800 4,700 100
01 =Wl 4,800 4,700 100
o EASHR F& 20,000 = 5% * 48« 4,800
206 M=l 6,780 6,780 0
01 M=H| 6,780 6,780 0
© RFIDEH 880 * 6,0000H 5,280
o ENE2 B3 300,000 = 5& 1,500
207 ALY 5,400 4,000 1,400
01 A= H| 5,400 4,000 1,400
o XtZ MARC DB =t 900 » 6,000 5,400
405 AHoHESHI 44,500 77,600 233,100
01 XL SSFSHI 4,500 6,100 A 1,600
o Xtz & Mt 900,000 * 5% 4,500
02 A7 40,000 71,500 A 31,500
o THTSH(LEEM HIEA) 40,000,000 40,000
datztel E CXNERZAY 29 72,774 103,257 A 30,483
201 LBt I Y| 4,781 4,781 0
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o MaHEHl |G 50,000 * 6& * 62l 1,800
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< YdtZH| > 0
o EEZE MH 1,290,000 * 23] 2,580
<2%sY > 0
o Zua 2AxE
40,000 * 92 &t * 25A12F * 23] 18,000
o SMZAE A=Y 100,000 * 5Z * 13 500
e Bl (2stAl & 22| AFH A ) 214,573 196,674 17,899
I 14,905 11,534 3,371
=234l 14,905 11,534 3,371
ol 24 H| 14,905 11,534 3,371
01 2 14,905 11,534 3,371
< 2G> 0
o AlZ2t2f2+%
7,393 * 148 = 12A12t = 12& 14,905
199,668 185, 140 14,528
=34t 199,668 185, 140 14,528
201 Et29H| 191,838 180,870 10,968
01 AtR2t2ldl 42,398 43,910 A1,512
< dt=ZH| > 0
o AIRAR2E ARE P 5,700
- ANRES 20,000 * 20& * 23| 800
- 2AIE2X 25,000 * 328A x 128 900
-El4 S 8MARE 250,000 * 801 * 23] 4,000
o AEE2g A8 ¢ 7,200
- AH 25,000 * 68 * 123 1,800
- & 50,000 * 208t A x 33 3,000
- JIEt E4E2 40,000 * 158 * 43| 2,400
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700 * 2000H = 12& 1,680
o NEFASEZ 3,600
- <X 15,000 » 108 = 128 1,800
- XX 10,000 » 152 = 12& 1,800




SN 2SS BRI A
3 HHSAPH(SHALB2AANYL)
Sl Jl2
— . — o

a (ctel: &
SN I SRI(S) - NRAY - B sk S 2t
0 & 24
o A, ZRE 5 HEHH =
100,000 = 7CH = 13 700
o ALE Il 7Y 30,000 * 58 * 23] 300
o FAS%E Y 10,000 » 10& * 23| 200
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o gXE 9,280
- o 50,000 » 1 » 116 5,800
- =3 30,000 » 1H = 116 3,480
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02 FAINAMHRFAHI 560 600 A40
o A9 AIEE A 40,000 » 144 560
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